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Candidates must write the Code on the 

title page of the answer-book. 

Code No.  4/C 

Roll No. 

  

 
 ²}¾R  NOTE 

(I) qHc\p HcHy q²¾crIV Hc de} qH qBg 
\of²¾ \§Wc Yy N\y h}By 7 \¥²y¾ h²¾ & 

(I) Please check that this question 

paper contains 7 printed pages. 

(II) \of²¾ \§Wc Yy E¨\c g§Oy h§X qY§Wy JBy 
H}T ²¥¾. ²¥¾v \orqIApcXr E¨Wc \tgqWHp Yy 
`t§I \¥²y¾ EWy kcvc qd§IV & 

(II) Code number given on the right 

hand side of the question paper 

should be written on the title page of 

the answer-book by the candidate. 

(III) qHc\p HcHy YyI de} qH qBg \of²¾ \§Wc 
qeM 9 \of²¾ h²¾ & 

(III) Please check that this question 

paper contains 9 questions. 

(IV) qHc\p HcHy E¨Wc qdIVp ftcv Hc²¾ W~ 
\qhdp£, E¨Wc \tgqWHp qeM \of²¾ Yp 
n`p£H (grqcAd ²¥¾^c) kcvc qd§I} & 

(IV) Please write down the Serial 

Number of the question in the 

answer-book before attempting it. 

(V) qBg \of²¾ \§Wc ²¥¾v \mª²¾ Yy dBr  
15 q`¥R Yp g`p£ qY§Wp qJAp h± & \of²¾ 
\§Wc geycy 10.15 eOy e¥Ty OpVJy & 
10.15 eOy W~ 10.30 eOy WH \orqIApcXr 
Hyed \of²¾ \§Wc ²¥¾v \mª²¾Jy AWy qBg g`y 
qeM Eh E¨Wc \tgqWHp qeM H}Br E¨Wc 
²¾hs qdIVJy & 

(V) 15 minute time has been allotted to 

read this question paper. The 

question paper  will  be  distributed 

at 10.15 a.m. From 10.15 a.m. to 

10.30 a.m., the students will read the 

question paper only and will not 

write any answer on the  

answer-book during this period. 

\¥Op^r  
PUNJABI  

g`p£ gr`p£ : 3 K¥Ry    \vc²¾ A¥H : 80 
Time allowed : 3 hours Maximum Marks : 80 



 

  .4/B 2 

²}¾R : qdIpBr ftZ, gt¥Yc AWy It§dªr-It§dªr Hc²¾ Yp OW²¾ Hc} & 

1. hyS¾ qdIy \±cy ²¥¾v qZAp²¾ ²¾pd \m}ª AWy Eg hyS¾ qY§Wy \of²¾p£ Yy E¨Wc qdI} :  15=5 

 AH^c ²y¾ 1575 qeM lWyh\tc grHcr qBH qB^pYWip²¾p ^VepqBAp 
qOXy hc Zc` Yy ¥̀²¾Vepdy ²¥¾v Ap Hy Ap\Vy qeMpc \oJR Hc²¾ Yp h§H gr & 
htV WH AH^c qh¥YvAp£ W~ apWcp R±Hg, \qe§Wc Xpep£ Wy qBg²¾p²¾ Hc²¾ Wy 
R±Hg AWy g_ W~ eZycy qKc²¾p _qcAp R±Hg, qOkrAp hRp MtHp gr & Eh 
`tgd`p²¾ HpkrAp£ Wy Edy`pep£ ²¾pd ^qhg HcYp Ap` W¡c Wy PJm \±Yp Wy 
ApIYp c§^ Yr gpcr dtHpBr ²¥¾v Zpc`H W¥J qYdr Yr ²¾kc ²¾pd ²¾p eyI} & 
gpTp gpqcAp£ Yp Zc` qBH h± qOhmp g§M Wy q\Apc Yy Apgcy Id}Wp h± & 
AH^c ²y¾ qBH Zc` Yr ²¾sh c§Ir qOg ²¥¾v Eg ‘Yr²y qBdpBr’ ApqIAp & Eg 
²y¾ qHgy Wy \p^¥Yr ²¾hs dpBr qH H}Br kcvc hr qBg Zc` ²¥¾v H^vd Hcy &¾  

(C) AH^c ²y¾ qHg Zc` Yr ²¾sh cIr ? 

(A) AH^c ²y¾ qh¥YvAp£ EW~ qHhmy qHhmy R±Hg hRpBy ? 

(B) AH^c ²y¾ ³Wyh\tc grHcr qeIy qB^pYWip²¾p HY~ ^VepqBAp ? 

(g) qh¥YvAp£ EWy dJp qHhmp R±Hg g_ W~ e§Z qKc²¾p _qcAp gr ? 

(h) AH^c A²¾®gpc g_ Yp Zc` qHg Apgcy Id}Wp h± ? 

2. hyS¾ qdIy qeqfAp£ qeM~ qHgy qBH  E¨Wy 200 – 250 f^Yp£ Yp dyI qdI} : 10 

(C) qB¥Rc²±¾R Yp `h§We 

(A) q_ofRpMpc Yr g`§qgAp 

(B) qegpIr Yp qWEhpc 

(g) ²¾pcr fHWr Yp `h§We 

3. Ai^pc Yy g¥\pYH ²¥¾v \§Wc qd§I Hy hmªp£ ²¾pd ^yKc h}By d}Hp£ Yr `YY Hc²¾ 
dBr A\rd Np\V dBr Hh} & 5 

             Op £ 

 Ap\Vr Hpc Yy M}cr h} OpV Yr gvM²¾p Ap\Vy qBdpHy Yy A±g.A±M.A}. ²¥¾v \§Wc 
qdIHy qYG & 
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4. I. (C) hyS¾ qdIy epHp£ qeM ghr f^Y O}m epdp qeHd\ MtV Hy qdI} : 
    12=2 

 (i) qfHpcr \¥Nr ^pO/^pP ^mp ltcWrdp ht¥Yp h± 

 (ii) H¥` W~ qehdp/eyhdp h}Hy Eh \mªpBr qeM dJ qJAp  

(A) hyS¾ qdIy epHp£ qeMdy dHrcy f^Yp£ ²¥¾v ghr HcHy qdI} : (N}Ry 
E¨Wc epdy \of²¾)¾ 13=3 

 (i) Eh `}W W~ ²¾hs TcYp¾ 

 (ii) \Wrdy Yp T§HV N}Rp h± 

 (iii) Eh `ycp ^Tp _cp h± 

II. (C)  hyS¾ qdIy epHp£ ²¥¾v qegcp` qM¥²¾ª dp Hy qdI} : 13=3 

 (i) \t§W q`h²¾W ²¾pd \qmªAp Hc q\Wp ²y¾ qHhp 

 (ii) ^§dy §̂dy Ags `±M qO§W JBy 

 (iii) c`yf HY~ W~ ^r`pc h± AqZAp\H ²y¾ \tqNAp 

 (A) hyS¾ qdIy \of²¾p£ Yp E¨Wc qY§Wy h}By qeHd\p£ qeM~ ghr qeHd\ 
MtV Hy qYG : 12=2  

  (i) \t§Sy¾ Hpq`Ap£ Yp q²¾fp²¾ h± 

  (1) , 

  (2) ! 

  (3) ‘‘ ’’ 

  (4) ? 

  (ii) qeg`H qM¥²¾ª h± 

  (1) ? 

  (2) ! 

  (3) | 

  (4) ; 
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III. (C) hyS¾ qdIy epHp£ ²¥¾v ft§Z HcHy qdI} : 13=3 

 (i) ^§My ²¥¾v MtqHAp `p£ ²y¾ & 

 (ii) `¥JWy ^vhy `¥Yc Yy Wy ^±S¾Yy h²¾ & 

 (iii) qBh q §̀S¾p ²¾hs A¥^ & 

(A) hyS¾ qdIy epHp£ qeM~ ft§Z epH MtV} : 12=2 

 A. (i) Jcr^ ²¥¾v gWpEVp \p\ h± 

  (ii) `| ²y¾ qB²¾p` qO§qWAp 

  (iii) Jp£ ²¥¾v \pG c}Rr 

  (iv) cpOp gr AH^c M¥Jp 

 B. (i) Eg Z}Wy H\my Ap\Vy 

  (ii) gvcO q²¾HqdAp Wy Zt¥Y q`R JBr 

  (iii) q^¥Rv Itf h± \pg h}V Hpc²¾ 

  (iv) JrWp Jp£ ²¥¾v Ht§R Hy N}dy \pE¤Yr h± 

IV. (C) hyS¾ qdIy `thpeqcAp£ Yy AcX g\§fR HcYy h}By epH ^VpG : 13=3 

  (i) R§g W~ `g ²¾p h}Vp 

  (ii) Ypd qe§M Hpdp h}Vp 

  (iii) q^§R-q^§R WHVp 

 (A) `thpeqcAp£ Yy ghr AcX epdp qeHd\ MtV} : 12=2 

  (i) q\§Ny \±Vp 

   (1) _±mr `§W YyVp 

   (2) Iqhmy \±Vp 

   (3) WyO Y¡m²¾p 

   (4) fH h}Vp 



 

  .4/B 5 P.T.O. 

  (ii) q\§S¾ S}¾HVr 

   (1) M}cr qIgH OpVp 

   (2) fp^pf YyVr 

   (3) gtApJW Hc²¾p 

   (4) iv^ Ht§RVp 

5. hyS¾ qdIrAp£ Hpqe-RtHmrAp£ qe§M~ qH§gy qBH  Yr \og¥J gqhW qeApqIAp Hc} : 

   3+5=8 

(C) Yvc Yvc XpG¥ eVOpcy ApBy ²z¾ 

 gthVy gthVy Ht¥Op£ Wy lrWy qdApBy ²z¾ & 

 JOqcAp£ Wy e¥Jp£ Yp ²¾p A¥W H}Br By, 

 `¥Tr PvSy¾ JqhqVAp£ Yr d§Jr h}Br By & 

 h§RrAp£ hkpcp£ hdepBrAp£ dpBrAp£, 

 g|Hmy gtJpWp£ ²¾pdy h}c ApBrAp£, 

 h§Rr h§Rr f¢HrAp£ Yr _rm I§dr By, 

 M§d ²¾r \cy`rBz ! qegpIr M§drBy & 

(A) kqhcr Yt§Z iv²¾r Jp£ 

 qH§Xy d§_rBy H^c dBr Xp£ 

 Hyhp `tdH Hyhp Jcp£ 

 `c qJAp htV g§Mp q²¾Ap£ 

 Ap\Vy iv²¾ Yr eJy P²¾p£ 

 qcfqWAp£ Yp Hr c§IrBy ²¾p£ 

6. ²¾ped ‘JtApqMAp `t¥Tp’ Yy HXp²¾H ^pcy 125 – 150 f^Yp£ qeM qdI} & 8 

Op£ 

 ‘JtApqMAp t̀¥Tp’ ²¾ped Yy `t§I \pWc ‘K}Jy’ Yp Mqc§Wc qMWc²¾ Ap\Vy f^Yp£ 
qeM qdI} & 
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7. ‘`p£ Yp dpTdp’ HhpVr Yp Apd}M²¾pW`H gpc 125 – 150 f^Yp£ qeM qdI} & 8 

Op£ 

 ‘qW¥²¾ qY²¾ Yp ŷBr`p²¾’ HhpVr qeMdy t̀§I \pWc ‘gqW¥Yc ²¾pX’ Yp Mqc§Wc 
qMWc²¾ Ap\Vy f^Yp£ qeM qdI} & 

8. (C) hyS¾ qdIy \of²¾p£ Yy E¨Wc ghr qeHd\ MtV Hy qdI} : 14=4 

(i) ‘Ap\Vp Ap\Vp qh§gp’ HhpVr qeM ^M²~¾, Kt§Yv Yr Hr dJYr  
h± ? 

 (1) `p£ 

 (2) _±V 

 (3) _cOpBr 

 (4) _vAp 

(ii) ‘eqh¥Jr’ HhpVr qHg Yr qd§Ir h}Br h± ? 

 (1) M¥Y²¾ ²y¾Jr 

 (2) AOrW H¡c 

 (3) ^qM¥W H¡c 

 (4) eqcAp` g¥Zv 

(iii) Hpdp gpZ K}Jy ²¥¾v Hr \rV dBr qY¥Yp h± ? 

 (1) J}dr 

 (2) WerW 

 (3) \tmr 

 (4) ZpJp 
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(iv) ‘\oqHcWr-qeqJApq²¾H I}O-HzYc’ qeM K}Jy ²y¾ Hr \rWp 

 (1) Mph 

 (2) fc^W 

 (3) Yt§Z 

 (4) \pVr 

(A) hyS¾ qdIy \of²¾p£ Yy E¨Wc qBH epH qeM qdI} : 14=4 

(i) ‘JtApqMAp t̀¥Tp’ ²¾ped qeMdp \pWc K}Jp qHg Hdq\W Ore 
H}d} `YY Yr Apg HcYp h± ? 

(ii) ‘JtApqMAp `t¥Tp’ ²¾ped qHg E`c Yy ^§qMAp£ dBr qdqIAp 
qJAp h± ? 

(iii) ‘gvdr EWy dRHy \d’ HhpVr qeM HctVp AWy dr²¥¾v Yp Ap\g 
qeM Hr qcfWp h± ? 

(iv) ‘Wr Or J§d’ HhpVr qeM WrOp ²y¾Wc qHg ²¥¾v qHhp qJAp h± ? 

9. Jtc`qW-Hpqe Yr qeMpcZpcp ^pcy 150 – 200 f^Yp£ qeM qdI} & 8 

                            Op£ 

 \¥Op^r gvlr-Hpqe YrAp£ qefyfWpBrAp£ ^pcy 150 – 200 f^Yp£ qeM qdI} &  
 
 

 


